C:# Finding Product (3 x 2) Name:

Solve each problem. Answers
1) Oliver was collecting cans for recycling. In 5 months he had collected 420 bags with 62
cans inside each bag. How many cans did he have total ? 1
2.
2) A construction crew uses 546 pounds of concrete for each section of a parking garage. If
the garage is going to have 10 sections, how many pounds of concrete will they need? 3.
4.
3) In{NYC} each mail truck has 911 pieces of junkmail. If there are 83 mail trucks, how
much junk mail do they have total? 5.
6.
4) Vanessawas building a LEGO tower. She built it with 868 stories and with 68 blocks on
each story. How many LEGO blocks would she have used? 7.
8.
5) A vat of orange juice contains the juice from 686 oranges. |If acompany has 28 vats, how
many oranges would they useto fill them all? 9.
10.

6) A golf course driving range goes through 110 golf balls a day. How many golf balls would
they go through in 79 days?

7) A pizzachain uses 537 grams of cheese on their pizzas. If they sold 44 pizzas, how many
grams would they have used?

8) A new library received 149 boxes of books with 97 books in each box. How many books
did the library receive total ?

9) A gas station sells 233 gallons of gas an hour. How much gas would they have sold after
91 hours?

10) A video game company can fit 592 boxes of gamesinto atruck. If they have 49 full trucks,
how many boxes of games do they have total ?
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Ch Finding Product (3 x 2) Name: Answer Key

Solve each problem. Answers
1) Oliver was collecting cans for recycling. In 5 months he had collected 420 bags with 62
cansinside each bag. How many cans did he have total ? 1. 26,040
2. 5,460
2) A construction crew uses 546 pounds of concrete for each section of a parking garage. If
the garage is going to have 10 sections, how many pounds of concrete will they need? 3. 75,613
4. 59,024
3) In{NYC} each mail truck has 911 pieces of junkmail. If there are 83 mail trucks, how
much junk mail do they have total ? 5. 19,208
6. 8,690
4) Vanessawas building a LEGO tower. She built it with 868 stories and with 68 blocks on
each story. How many LEGO blocks would she have used? 7. 23,628
8. 14,453
5) A vat of orange juice contains the juice from 686 oranges. |If acompany has 28 vats, how
many oranges would they useto fill them all? 9. 21,203
10. 29,008

6) A golf course driving range goes through 110 golf balls a day. How many golf balls would
they go through in 79 days?

7) A pizzachain uses 537 grams of cheese on their pizzas. If they sold 44 pizzas, how many
grams would they have used?

8) A new library received 149 boxes of books with 97 books in each box. How many books
did the library receive total ?

9) A gas station sells 233 gallons of gas an hour. How much gas would they have sold after
91 hours?

10) A video game company can fit 592 boxes of gamesinto atruck. If they have 49 full trucks,
how many boxes of games do they have total ?
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C:# Finding Product (3 x 2) Name:

Solve each problem. Answers
8,690 29,008 23,628 26,040 5,460
19,208 75,613 59,024 14,453 21,203 1.
1) Oliver was collecting cans for recycling. In 5 months he had collected 420 bags with 62 5
cans inside each bag. How many cans did he have total ? '
3.
2) A construction crew uses 546 pounds of concrete for each section of a parking garage. If
the garage is going to have 10 sections, how many pounds of concrete will they need? 4.
5.
3) In{NYC} each mail truck has 911 pieces of junkmail. If there are 83 mail trucks, how
much junk mail do they have total? 6.
7.
4) Vanessawas building a LEGO tower. She built it with 868 stories and with 68 blocks on
each story. How many LEGO blocks would she have used? 8.
9.
5) A vat of orange juice contains the juice from 686 oranges. If acompany has 28 vats, how
many oranges would they use to fill them all? 10

6) A golf course driving range goes through 110 golf balls a day. How many golf balls would
they go through in 79 days?

7) A pizzachain uses 537 grams of cheese on their pizzas. If they sold 44 pizzas, how many
grams would they have used?

8) A new library received 149 boxes of books with 97 books in each box. How many books
did the library receive total ?

9) A gas station sells 233 gallons of gas an hour. How much gas would they have sold after
91 hours?

10) A video game company can fit 592 boxes of games into atruck. If they have 49 full trucks,
how many boxes of games do they have total ?
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